Answer on Question #52190 — Math — Calculus

1. If y = arc sin x, then
dy/dx
IS
Solution

T
2
Besides, by Pythagorean theorem, cos® y+sin®y =1.

Function y =arcsinx is the inverse of y =sinx. It means that if y= f(x), f(x)=arcsinx,

then x =siny, x=g(y),g(y) =siny.

Consider y =arcsinx, —1<x<1, —%s y <—, cos(y) >0, where —%s yé%.

It is known that g’(y) = (sin y)' =cosy.
The derivative of the inverse function is given by

|
g(y)—f,(x),
hence
£/(x) 1 1 1 1 1

9’ (siny) 08y fi—sin?y Ji-x*
The derivative of the function is

dy d .

— =—arcsinx = )
dx dx 1— X2
Answer:
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